=
AH3® feg arst
(MoTiON IN A PLANE)

4.1 3fHAT INTRODUCTION)
fug® nifonrfe f<g w1t Afast, femaus, <9 M3 y=ar

4.1 ghar et gasT=t & feafia A3 A, We’rﬁnme’rma’u’r
4.2 wfewwIAfen ISt © =9ee ads © BE 8% Ut 9| fagfe fee fant argt
4.3 mfot ot oafog AT a5 &g frge € Ot fewret Ag= 0, fen ®et feust atwt @

=T ferrana Ty & + »3 — fogT &% SgnT Aa< It | Ugg A wt
4.4 wfew e a9 w3 wer§ (Irst gyt &t ISt T € farit (fa mis®) = fas faft mum)

fet)

IES Jqd&T Ide I, 3T AG Qudaz I3 aHMHT @ niftns

4.5 nAfent o fetms 95 € & Afent &t &3 U<t 91 fow et A9 3 ufost it
4.6 nfent v w3 : femdreava feut|  mfent & g (7= Afent € gret w3 Qust § =93 fRa fenrGe
4.7 fermizs fSgast St featyt) fiutar | Afer ot 7 Afert & fa= Afamr, werfenr
4.8 fan 3w 9 féa mims y=ar A IIET J13T Ater 3¢ Afent § fan swafed ffrr 5% grer

sEIE SAE I A o sIAT HBa 7 few Ao wet fem wet fifurar
4.9 SforfRemudt < fam &% fan migs &9 eng @ 291 3 Y= § ufgetng
4.10 Y It 995 T et wit HieHT Ot 293 a9 Aote | fere g mint fo

4.11 e m"s Jadt arst

M3® ST Sng <f 93t 3 999 gatar | fan migs R st &

ic) m@@m@mf@gn{mm—wmaﬁﬂwm
fegraetiar fem Fatar M3 € yuua &t a3t € fen <9 ferse s uzgfani
mfenm Sodt ast 3wt Sait gt AE af fareT S T Hiws (oY
U PAH femm wIs= 31 it g s Jadt argt & g9 feraa &8

9d9T qatar|
wHt fer mifonrfe 29 fAge mitgest § yuz agfar Gust
& Aftrt {35 ot a3t € et fengmg JisT 7 Fger I

4.2 wiferw M3 AfEA(SCALARAND VECTOR)

T Ifaar It & wifeldt (Scalars) M3 AfEHT (Vectors)
ffg Tgdilags qoe ot &= <9 y® 39 feo § fa Afew €
&% femr (direction) & HYTUZ Jae IF 8 »ifend € &% wfmgr
&dt Ja< | feq wifem ot Qo ot I fan feg fAge fuaed
(WTMmagnitude)ﬂﬁﬁlmﬁmﬁaﬁwm@
Ed< H'39d gMTdT Ydt 3gT SgnfenT AT Ader J | fene
Ceds % : © et fegst Tdt, fan enzg @ Uq, fan =ng
?Ww@awmééﬁwmﬁmmeﬂa
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feg €4t fau ®ar I I8 7 AUdS g arfe3
f&9 | wifert & »irt st @F IgT 73 Fare IF, wer
Ha< I, greT AT 97T o Age JF fae fa wrt
WM Afgmre @ 578 gde 77 | @erads € BT, 7
fam mirfeg & St M3 I3ET IHST 1.0 m M3
0.5mJ 3TGAET WITr g g gAT=TE A3, 1.0m+0.5
m+1.0m+0.5m=3.0m J=JI" | IJ AT €t et fea
wifer I M3 wer <t feq mifew I1 At ffa-g=
€erags '3 fegrg gatdr, & fan fea fes e =
3 TUMIT We 3 We IUNE 35.6°C I 242°C T
3t fegst &af € W39 114 °C I<ar | fer 3g+
WBHts & far fifa AITs 87 W € g8 10cm
T mI FeT ¥ 2.7 ke T 3T OFET mirfezs 10°m°
(fea nifen) TRIMr M3 WE3T2.7x 10°kg m= <1 e
wfer J|

fea afew amt €9 I I faw fe9 ufaue
w3 feur @< J€ 95 w3 €9 A7 Aeul f3gw €
fso A7 AMT3T 9393H © AF A9l faod @ uss
g3t 31 few yag, fea Afen & €re ufane &t
WWWWWWUIWQ‘@H
It fAgsT & mfert gwmar garfenr Ffer J,
€1 I femgus, 291, y=aT M3 ¥5 |
wiyat € <93 gafar | fAe fa <91 Afen & Tane
®et v f9g € =93 Ja9far ug 98 &% fgue m
faQfar He »iuat e feusT 837 HHa® Jer J, fem
wet féq Afer & »iug € §ug 319 Bar a gamge
g, fas v Iferyaav w3 0 €& St SaTAfen &
SIS U5 | fan Afen &€ ufone § waHg wHt
e ‘YU s’ afde T M3 @R & | v | gmrar
Torfenr wrer J| fen 3gT f€a Afew § wmt i
nyd fAs" A AT a,p, ¢, 7, . x,y B7F SIATET IT FAC
WW@WEEWWAW&@%AW
x, y ©TIT EIATEE IT

4.2.1 Afgst m3 fewgus Afed (Position and

Displacement Vector)

far m3w feg I3t I9<t @Az < Afast
ew@zsﬁmﬂmnmmfa?oaw
ﬁ?ewmmwlmwﬁea—w

AT (3 7 3 A St AfESt gHe g P P J |
(833 4.1 ()] PE 0 3 T Aa® UT s B 13
fée gt| few 39+ op A" ¢+ 3 =AF < Afe3t Afer
Jd<qit| few 3y © fAg 3 ffx 9 @ fows sar
few ot | fem & fam fog (s B8) r 7% Tanfemr
7T J, T OP = | fen 37 fiw p & € grat
Afa3t Afer OP’ H3®Y &% SdnTfemT JieT J|
Afew r & Savet §re ufowre & sem@et I wz
Afen < ferr v J=a9t famet femr fe P(ffg O
I dyT ) AfEI ISIM I A SHI P I8 I P 3T
UH Aret I 37 Afen PP (fAnet yes p i3 fiar P
I TPt 3P (M) I ISt € A9

ferays Afew afgsQer J1
y4 F
y/\
P’ D Q
b E
r' B
'y
p
O S O A >
X X
(a) (b)

f939 4.1 (a) Afeat w3 femaus Saeg
(b) femgus Eaed PQ W3 13T € SY-<4 gAa
feg fev i WI3eUes J fa ‘ferarus Afew’
& &g Ho® JuT &% EanTfenT Afer J1 Rg ©F
wifaw rfast & €<t mafsa Afest s A=<t 9
w3 feg €0 =3fex an3 3 fadgd st Jder v
TAZ gwrar foent € fegarg sfenr afer I

Serags =+, fAe fa 939 4.10v) feg feyfemr
fapur 3§, mafaa Afaat p w3 »ifaw Afast @ &
fegarg fergus Afer pQ A< fa 8Tt T ug &=t
PABCQ, PDQ "3 PBEFQ JY-3Y U5 | fei 3g7, aet
€ fagut @ fegaw feraus mfew e ufewe af
3t 9ISt goet @ng € ug SuEl 3 ue deT I AF
@ne s9gT Jer I1 fugs wfpmfe fg <t fea
H9% JuT <t fenr {9 a3t ga<t =ng & aet fon
37 § 9t g mHgTenT fapr A

*  fAoT 99799 HTS9d THEMT ITTHMT TT 73 w3 WerfeT Aeed deT J1 e fa 3t f§w wseat = wfent & areT A grar

I AGE T |
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gz fefamms

4.2.2 HAfent et gorgat (Equality of vectors)

© Afent Am3 B fige ©€ ot gorwa fagr Ar
AaeT 3, A §uat € ufare w3 ferr g9rad 3= 1+

939 4.2(a) [<9 © 9990 AfERT A M3 B §
TaATfenT fapdT J | wit fegst @ gdrgg I <
Uy Aftwt 9t a9 AAE IFI B & MUS WU €
WW@E@@@WQH@A@W
0 ¥ &% W% yidt 9= | feg fa@fa Goat € fAd s
MI P I HS Uie I&5 | fed set €6 Afew gar=g
FUGEIT | W™ 9T feH AHE3™ § A=B € U
f&g feye ot fon oi® 2% fors fe€ fa 939
4.2(b) fET9 A< fa Afert A’ W3 B’ @ ufo's 999
I fed <t €& Afen o9 &dt s faGfa Guat
gt femet fY-<9 5| B § GAE I mif3T
fuma S fam 5% GAEt Ues Q, A’ & Ues O
SEHE YET IS 3T B e fHIT S, A’ € A P/
3H H® &1 yr=ar|
4.3 Afent & ewsfea Aftm &% grer

(MULTIPLICATION OF VECTORS BY REAL
NUMBERS)

WA AA &% fsue ot
NA|=AA| T >0
@m 1_-|'A?>_2c'>'<“) dic! O(Id' H"E’ 3t
ufgenit Afem 24 T2ar (939 4.3 a) fAmet femm A
o feur =9t w3 ufore (A| © € JIeT J=Ir|
Afer A & 7 fEa fae=na Afumm ) &% Jer
aﬁé?mxAmﬁ?ﬁmﬂﬁhﬂTAﬁ

y (a) (b)
fg9394.2 (a) A3 BEdd 29¢d
(b) Afed A’, B’ 59799 &dt I I7= QT Tt
FIEMT 99Tag TS |

feqr @ €% T w3 famer ufars (A
Jer J1
+ fan Afem A § foeava Afwret — 1 M3
~ 1.5 %% JIST &91E 3t ufgenit Afen 939 4.3 (b)
F9dr I=Jr |
Ifgat &9 fAm wea A od™ Afem A &
g otz AT I §T aot mifew § AaeT I favehot
Yo ot fedt Jett 9% | fer &et LA &bt fadt o
M3 A Tt fedT € JSaEe® € g99d JSdibdT |
Seuas =+, & wirt fan nAfge <9t Afen § fan
(M) 7i397% 578 JeT Jate 3+ Ag a femarus
Afew yug J=ar |
S A/

/A/ Ly
2A L/ISA
(a) (b)
fg39 4.3 Afew A M3 E& usTaHa Aftprr ©
megunrgufa@ﬁnfeﬁr (b) AfeT

AMT OFE fasand Aftprat -1 MI -1.5 575
awaaﬁgmufamﬁwfen

4.4 wfert & A3 M3 we§ : et feut

(ADDITION AND SUBTRACTION OF VECTOR
GRAPHICALMETHOD)

fAe fa gmar 4.2 f&9 Sy A7 dar 7 fa
Afer 73 © f3gd fauH Af AMT3d 93gdga © A3
T fooH & Uss dad I8 | g WAl aret feut
g A3 © fen faw & migtar | wint 939
4.4(a) fE9 TIAE mgwg fan mi3s o Afaz ©
Afent A W3 B 3 feu9 qoe It | fegst Afent &
T T8 JyT U3t It Farebyt Afent @
ufoe €@ IS MaU™3T I8 | 93 A+ B YU3 T35
¥ Bt 939 4.4 (b) © mgAd Wit Afew B & fen

or ) JIET

s miforis {5 Afewt St afagtt fsgurfas adt T 1 few set A< f&a Afew § »ue »my € M9 femafus aee of 3t

Afew »iufeeafaa afder 31 fem 397 € Afent & »t ‘v Afew’ afJe ot | Teie g3 $fza Quder f¥e nfew o mfast A
St fafer Jur wg=yes §€t T 1 mfng Afert § wirt ‘Aarsa Afel’ (localised vector) I T
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A

B

O+D+Y

fg394.4(d)

939 4.4 (a) Afew A M3 B, (b) AfeRt Aw3 B & et feut
THTET §3aT, (c) AfeR B3 A & arst feut gnier AgaT,
(d) Afent € 93 &% AEfuz AfgeTat fawd & ygane |

39t Jue It fg OFet ye® Afew A © fag 3 3=
feg »it A €t Ue® § B © fid &8 A= fée If|
feg Jur 0Q ufgenit Afew R & Tam et I 7 Afent
A "3 B T A3 7| faffa nfent € A3 <t few
feut f<9 nfent &9 fan ffq € g & o9 <
Ue® &% d3¢ I, fen set fen aret fedt § fae
3 y=w feut € a3 &% Afenr Ater J1

& Afem W3 Qust v ufgenit afew fan
faga et f3s ga=t a6 g5 | fon =t fen
fedt & nfen Gar € f3gA fao &t afde a1 7
»H B + A €@ Ufgenit Afen yruz adle 3t 2t Ag
€39t wfew R yuz ger I (939 4.4(0)1 1 femr
yd'd Afert g7 A3 ‘@ Ufd=d3a’ (commutative)
fent @ A3 &9 7 €™ @ gy gv% IFE
3t 2 ufget Afer adt geser) ooy & usaT
gar J|

5 fog9 4.4 (c)

A+B=B+A @.1

Afent @7 A7 AfggTat f&T (associative law)
o & U gder J fae fa 939 4.4 () f<9
TonTfenT faprT | Afert A3 BE Ufost A &
3 feg Afer ¢ § 798 I 7 Ufse YUz dJer J
€7 €4t I 7 Afent B w2 c § ufos™ Az I M2
feg A & Figs 3 e 4, o=

(A+B)+C=A+(B+C) “4.2)

< s mT §ue Afent § A6 3 af ufge™

0 & =7t 9 Afew afde ot | faffa #ie nfew

o ufgure #=19 Jer I, fen et feq <t femr er

fsauds sat G137 A7 AdeT J1 WAG &9 Aa

At feq Afem A § AftdT #19 &7% T age It

3t T 53 =9 A €7 Afenw It MSar ug

Grer ufows =19 9<9r| o0 Afed € Y JIT J&
fou g5-

A+0 =A

20 =0

0A =0

9 Afer e Sf3a mag at I ¢ fA= fa foza
4.1(a) T2 fourfomr faprr 31wt fam mi3s feT
Afaat M3 femgus Afent 3 fegg g9e IF 1w
s fafanfecIaet=ag P3J18T P 3T A"
& WS P 3T TUR o Atel J1| fen Afest f<g =ng
o fergus dat 32ar ? fa@fa migfaga »ia »ifay
Afagtt H® yiebdt 95, fer st fermaus “Hig
Afer” J=ar|

Afert @7 wer@ Afent € A3 € gy ff9 =t
ufggag 13T AT AgeT J1 € Afedr A MI B &
#3g & wt & Afedt A M3 BE Az @ gu f<9
J6 &y mgA™g T9nT Aae It :

A-B=A+(_B) (4.3)

fem & f939 4.5 f<9 Tanrfen faprr J | Afen

B AfeHA RS A= T R, = A - B YUz Jer JI
3BaTE Bel fon fogg fRg Afem R —A+ B & =
feurfenr faprr J1 miigT 9g9ew feat § <93
St vt & Afert @ 43 U3T 99 Aae 77 1 NS 6
Hg d% & Afew A »3 B 5| feast afent §
735 € BEt Qust St yew & ffa A g § us
fég o 3 fer@e of fas 939 4.6 (1) IRT
feyrfenT faprr J I fea vt A € fAT 3 B € AHT3T
feq Jur ffge It M3 B © fAT 3° A © AHT39 fea
J9 gAdt JuT fde & AHT3d 9399 OQSP YT

(44

fimer I 2 nirft € Afent A M3 - A fAgst & 939
4.3(b) fE9 feufonr 3, 3 fegd a9e o | fegst ar
13 A + (A) 7| fa€fa & afent e ufors G4 3
ud femr €we T, fer Bt ufgenit afer @ ufarrs
#ig J=ar w3 few § O &% waATfen Aier J|
A-A=0,]0|=0 4.3)

g9e 9t | fan fag 3 feg €& Ju=t ffa-gnd &
dedtnt g5, @H § us fig 0 &% A3 fad It
ufgenit Afen R &t fedr ANT3T 939gH & HE
fig o ge= fig s <% fi9 I dg= os & fenr
J=ait 1 [(fS37 4.6 (b)] [f93T 4.6 ()] IS Afemt A
w3 B T Ufde™H de< &et f3gd fau &t =93
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feuret et 1 €&t 939" 3 Are I fa @& feutnt &% fea at ufge™ fsawer T1 fen 39+ @& fegtmt
IS TS|

(a) (b)

fgg9 4.5 € Afed™ A M3 B, —Baéwmal(b)ﬂf@ﬂAgmB?w@w ufge™ R J|
WGE&THT@HTAM?BETGBTR 2t fewfem famr J

Q

(a) (b) ()
929 4.6 f€ar It W'¥ Y& fig =& € Afent A w3 B3, (b) AMTIT 9399 Ut grdr A + B WaT yug
JI&T, (c)eﬂﬁmamﬁmwkﬁ fagw feut @ mg® J1

N B 7% : TIUTwI g7 @ a1 § Afedt v M3 v_ 5
Gegez 4.1 fan fes T9ur 35 ms! & 978 feag 4.7 f—ere’ea’mfewrm{rmfewe%{r

&% yIFE™ J&f <& J Jdt J1 ¥ 29 gHe ; - fr S 5

J=T 12 ms! ©F 9% &% Yd< 3 UeH ferr L. e -
<% I%< SaEt I 90 AeY 3 U3 fon g2 I8 | AISHT € #Y € 168 MeHd v, »3 v, &
% wrust 29t o fonr B9 a9t grdtat ufge™it R 939 f&9 gefou fapm JI R &7
I ufor™E J=ar |
R= \/v +v \/352+122 m/s
Vy
| N =1225+144 =37 m/s !
0 y3e™ &% R &t fenr o 323t -
w E tan =20 =12 _ 0343
Vr Ur 35
R . )
4 =, 0 =tan (0.343) = 19°
v fen et 39 § mrust £39t uze™ 3% ff9

Y3E™ &% 19° de 79T JF YaI< femr @5
f9s94.7 Juet gdiet 31
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4.5 Afer o7 fe@HA®S (RESOLUTION OF VECTORS)
"o 8 fa o M3 b fam m3w S99 -3y
fem=et =8 € Ji9 w9 (H19 &d1) nfew 96 W3 A
=t fen mig® <9 aet 39 Afen J1 (939 4.8)
8¢ 39 A § € Afent € dz ¢ gu <9 fedifas
3T AT AdeT J| e Afed « € fan =wafe
At € Je5e® © gu ffg w3 fer 39T gnar
Afel b € JIEae® € U &9 J| wifAor 95 &
et ufast A S famet ygs o w3 faar P | fag
0 3 a< A3 feq Ag® Jur fifg W3 P 3 fE
Ad® JuT b € AHT39 fiT | s 38 Gu fa-gng &
Q I ednt g5 1 I, )
A=0P=0Q+QP -(46)
ud fa€fa 0Q, a & ANT3T I MI QP, b & AHT3T
J fen »et

0Q=%Xa M3J QP=ub A7)
fag L 3 | aet ewafed Afer=t a5 1 .(48)
P
N\
A ub
$ 0
Aa Q
(a) (b)

fog9 4.8 € mIdT AfeT a3 b (b)) AfET AT a
W3 b T uet ST fevms

fem =t A=)\a+ pa

Wt Ifg Aae It fad A & a w3 b &t ferr &9
@W(components)@'ﬂka”@ubﬁ?f@ﬁfﬂ?
g a3 famr 7| fen feut &t =33 9o wint fanw
Aferd & OF Mi3® © € Afen weat 9 fedfaz
ad A< J7| fearet ufoure € Afent &t Aofear
5% MAT fegen Mia famer < feur feg fan
Afen o feGrs afeudasa Jer 3| mfad Aferr
?;3_ fearet mfew (unit vector) gfde 95 fAam 3 J<
Wl 9997 JITl |
fEGFE'THfE’H(UnitVector)

fearet afew Qg Afew Jer I famer ufor=
fea 3@ 3 7 fan feum fenr fSe 3= 157 3t fen

Tt fedt bt & M3 &7 It IFt 3da | fAde
ferr Q< et fenet =93 aiat AT J1 939
4.9 a {39 Tane fEF wfesa fagen nig yeat’
(rectangular coordinate system)@'x, yhdﬁ'zgﬁ"ﬁi'é']'
fenr &9 fearet Afent & mit g9 §, j M3 k
ogT I I | faGfa feg A9 fearet Afen
I, fen »et
il=1jl=1kl=1 ..(4.9)

feg fearet Afen feq-gnd € B9 I T&|
oHd Afert 3 fegst & Sudt ueTe € Bet few
U3 feg e eelv i, §, k @ €us 3 au ()
war fagr 3| faGfa fen mifrfe feg wirt fage
< forit a3t = ot wiforis a9 39 97 | fewm set g
frgs < fearel Afent & 83 J<|

A fan fegret Afew n & fEq wifew 1 &5
JIeT Jdte 3T ufge™ g Afer ra I WMo
99 fan Afer A § I& fou 39a 57 Tar™ Aae
Jr:

A=|A| A
g A ot fenr &9 o fearet mafen J1
it fam Afem A & fearet Afemt 1 w2 j ©
et f3g fetfag a9 Aae 771 vs &6 fa fo3g
(4.9 b) & WMEA'T AfEH A AN3® x -y fT9 Afag J1
f939 4.9 (b) © MEAT A © g 3wt fagen »ia
gfgnt 3 B9 fiee of | fem o7& A & Afen A,
M3 A, fer Igryuz de s fa A +A,=A Ifa@fx
A, feaet Afem | € Mit39 I »3 A, fearet Afen
i @ migg 3, few wet
A=Ai, A=A j (411
feg A M3 A ITHILT At T5 |
fer3gt A=A i+A j .(4.12)
fen & 939 4.9(c) f<T wanrfenr faprr T
TJHPHT A W A & it AfeH A€ x- "I y- Wed
arﬁv@ﬁﬁe”@rféﬂa“r&éffmmf—e@i%(AXFﬂéH
T 3, wsfa A { fea Afer 31 fen 3g7 A j T
Afew J1

(4.10)
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faaesist &t S93 aad A W3 A § A ©
uﬁma‘mg@ﬂ—trw)cuaewmw
d< 0 ¥ Yyt {39 @an™ Aae It :
A =Acos 0
Ay:Asine ...(4.13)
Mieas 4.13 T A I fa fan nfen @ wes,
< 0 3 fadgd dde I M3 USTIHA, fasava AT
g T AT T
fan miz® <9 e Afen A § TanGe BTt
IS A8 9% € 3919 I& -
(i) BFe ufo= A W3 87 ©v9T x-Ud &%
g7 JIT d< 0 e AT
(i) GFE Wed™ A, M3 A, &I |
HAMI 0AE UITIE IHA MI A T HE
s (4. 13)sru3T5ﬂBTF|THa€TU|FrA e
A, U I I A WI 0 T U Io B IS 5
UE"'EﬁE"'T-lTHHETU

Ax + Ay = A%cos%0 + A%sin?9 = A?

A, A= A2+ A? ..(4.14)
A A
MI tan 6 = —%, 6 = tan | L ...(4.15)

AX AX
e I fon feut 3wt T (x-y) M3® ff9
far Afer § GAT wea' <o fedfAg dier J ug
fen fedt emmar fan Afem A § 3w favt &9, ),
- gfent ot forr f&g 3w weat feg fewfag at=n
ATAIET T H A T x-, y- MI - Ufg™ T fegarg
AE FHIT o, p T y IS+ (fF39 4.9 (4) 3T

-~

f$399 4.9 (a) feamet Afew i, j, kafon x, ym—gze?hmhva?? (b)%rnﬂf—e'FrA?ranytrhwe’r
fenr feo8 wed™ Axm3 Ay fRE fe@fAg 3T 3, () Ax M3 Ay § i M3 j € ueT g feraz st I

A, =Acosao, Ay =Acosf,

A, =Acosy ...(4.16a)
Y
AT
R (A
I VA
|
y 1% iAx /' .
A
/A A
|
AR |
z
(d)

939 4.9 () AfEm AT ym—gz-tr&mre?km

% Wt f&g fetas

fermua gu &9
A=Ai+Aj+Ak ...(4.16b)
Afew A T ufors
A= /Aj +A§ + A2 ...(4.16¢)
J=ar|
& nfggt-nfen (position vector) r ?;3' Js fou
IS ITH TIATEHT AT ASET J
r=xi+yj+zﬁ ...(4.17)

* fow 9% '3 fours fe@ fa o, B W3 y d= AUA <9 75 | feg mifadtt @ Jurst feu® < g6 1 ffa miew <9 sat a5 |
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ﬁx,ym@z,ﬂﬁﬁrémx—,y—,z—ﬁm
&g wed 75|

4.6 Afew @47 : fep@AcsaHa feut (VECTOR
ADDITION-ANALYTICALMETHOD)
w3 Guat & ufgent Afer § mine gu <9 mize
feg Aorfeq It J Ug ae-a< feg feut ds®ead
Jot I w3 fenet HuzT St Mg Jet 31 Y-y
Afert § €9at € HI=E wed™ & e d #3aT
Sio Ay Jer JI s s fa far ms feg ©
WHAWPMWEWWAX,A}_W
B.B, I& 3
A=Ad+Aj ...(4.18)
B=B,i+B,j
¥ 88 fa R fegf er a3 3 3t
R=A +B
:(Axi+Ay3)+(Bxi+Byj) ...(4.19a)
faQfa nfew g ufa=aas (commutative) W3
AfTETaT fETHT (associative) BT USS Jde I&, feq
et Midds (4.19) f[<9 €9AE I Afent § I
fou a9 vz feenfaas J9 Aae It :

R=(A, +B.Ji+(A,+B,)j  ..(4.19b)
fa@fa R= R,i+R,j ..(4.20)
fem w2t

R,=A +B,, R,=A,+B, .(421)

few 3g+ ufgenit Afer R €7 9o wea Afent
A W3 B € AII3 WedT & A3 & 99r9d J<r J|
f3s fert € et Aafent A W3 B § wift I

foy Ida &% TIAT AIC I

A=Ad+Aj+AkK
B=B,+B,j+Bk
R=A+B=Ri+R,j+Rk

#TﬁWRX,Ryn@RZ@)EEnTﬁTfE&aH:

R,=A +B,
R, = A, +B,
R,=A, +B, ..(4.22)

fen feut § aet Afent 5% Ags M3 wege ©
BTt T A7 AT I | §T9ds BEL, H a, b M3
¢ 3= nfen I& foy 399 & Tan'e e I :

a=a,i+aq,j+ask

b=bi+b,j+bk
c= cxi + cyj + czﬁ ...(4.233)
ITAfEA T =a + b - ¢ € WH I6 &Y I=aT |
T,=a,+b,-c,
T,=a,+b,-c, ...(4.23Db)

T,=a,+b,-c,.

Gegas 4.2 939 4.10 ST foye e
Afert A »3 B ¥ fegsT d< 0 J| feast
ufgenit Afew e ufaurs w3 femr @ast
ufguret mI ¢ € Uet f&g u3T J9|

ap dp ds

Q S

fggg 4.10
J&:f93g 4.10 e nigna Ha &8 fa opm3 0Q &
Afert A M3 B TINET U5, fAvat fegsT d< ¢
J| 3¢ Afed A= € AMT3d 93994 feu enmar
A& ufgenit afer R Yy 329 fam § 939 os
onrar feurfenr faprr 31 femr 39t
R=A+B

fgga feg SN, OP € BT I M3 PM, OS € &g J|

OS? = ON? + SN?

yd ON=OP+ PN=A + Bcosd
SN = Bsin®@

OS? = (A + B cos8)? + (B sinf)?
| R2=A? + B2+ 2AB cosé

R=+A?+B?+2ABcosq ..(4.242)
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Jfga fefamms

f3g® OsN &9, SN = 0S sina = R sina M3
f3g7 PSN f&9, SN = PSsinf = B sind

fem et
Rsin ¢ = Bsin ¢
. R B
| — =— ...(4.24b)
sing sina
fer 3g" PM = A sin « = B sin g
. A _ B
T Snb " sina ...(4.240)
A&t 4.24(b) M3 4.24(c), 3 S YUI
Jear J-
R A B
== ...(4.24d)
sin § sing sinea

MHIFES 4.24(d), ©ATT WAt IS it 739
yUI Jad It —

. B .
s1na=EsmH ...(4.24¢)
ffg R @7 s mitads 4.24(a) f9 &3 faprr J1
. SN Bsin6
A tano= sin ...(4.241)

OP+PN A+ BcosO

M 4.24(a) 3 Ufde™ R @7 Ufoe w3
MIaE 4.24(e) T ferat faur uzT i3t AT Ag=t
J | MiaE 4.24(a) & cos & fa@H M3 Midds §
sin € fsuy Ifde I5|

Gergas 4.3 feq Hed 8 §39 <t fomr <%
25 km/h € 291 '8 ISt 9 T few 439
f&9 U=t € udT @7 =91 10 km/h I | Ut=t
&t urar &t fenr Sy 3 Yge ¥ M3 60° I
J | Hed §e =T ufgenit =ar u3T 4|

53':%36’4.111%?%)?%%‘32@@
& 73 v, Ut & 9T € I § TIET IS |
yHs »gAd fg3g 9 fegst ehat fem=t
TINTEPHT IIEPAT IS | Afel A3 © AHT3T 9399d
faon @ wMawg ufget R <t feur 939 <9
TIHTET aret T

cosﬁvngeT%a—-:faa@ranRETuﬁwa'
U3T J9 AT JT

R =2 + 02 +20,0,c08120°

NG
60"

v
S

fag94.11

=252 +10% +2x 25x10(-1/2)

=+/625+100-250 = 22 Km/h
R & faur u3T gd& Bt #At ‘sin’ fowd €t
—. ~ a-i-—
R v

C

sin & sin ¢

. UC .
sin ¢ = —sin 0

10xsin120°  10v3
21.8 2x21.8
¢ = 23.4°

= 0.397

4.7 faH AH3® @9 ST (MOTION IN A PLANE)

few gvar 9 »irt Afen™ ©f =93 a9d © AF
fa= fent fe9 I3t € =I5 agtdr|
4.7.1 mm@m(Positionvectorand

displacement)

faw m3® &9 Afgz a< P € xy fogem
337 € yw fig € AUy Afast Afew r (f939
4.12) & J& 84 AHtaas gwrar gantfenT aier
J:

r=xi+yj

&g x M3 y-afedt »- 3 St femr feg r @
wed & | feast § »it ae & fagen via &t afo
Hae J7 |
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"o 38 fa f§39 (.12 b) © »igAd JEt < 24T (Velocity)
Het Y™ &% TInTel fud ot four &9 I8er 7
fan fez t S feret AfetpI e emd fee v 3
foret Afagt P 31 o0 @ femans & ot 3 feg MOUTS & Ml RS 29 (v) afdE I, few we,

@ femgus W3 A3 AT w3as @

MEHT {8y Age Tt : V_E_Athyj
AT =T -T ..(4.25) At At
=, Y /;AX ';A
fewet fewr p 3 P % I5 | =1E+JA_{L{ (427

At v=0,1+0,]
y/\ Ux v J

1%(@"'%("’=—ﬁ’ﬁ8'¥ﬂ'ﬁ3€ (4.12) M&AT

P W%’GTETfEﬂT@EﬁUEHﬁ H ar @ JI

T ) I3t JaEt A € 9T (IITFF Fan) M
HYH AT M3 (at » 0 & A f29) femaus
AT T AHT 93T At 3% MEUS I I fen & mt v
&% TINT Hawe Jtf, few et

Ar dr

I T v = ETOAt G ...(4.28)

f939™ 4.13 (@) T & T 4.13 (d) € ATfeaT

¥ &% fen A3 yfafenr & »Arst &7& AHfenr ar
Walfewfhwmﬁw@ﬂma
eaw@ﬁafmrgarﬁ%ﬂ?fs?tgfa—epsr

________K P’ JweT §g a9t I1 @Ag & AfaSt At AL, Al
A ZES Afipt S EoHE gUEE P, P,, P, &7 TanTet Aret
Ul@wwma@?kﬂwmm

M3 Ar,, Ar, J1 {939 (a), (b)’?l?(c)f%_ﬁ’w

WRE JE ALE HTET T AL, AL, AL, (AL, > AL, > AL,)

€ Y g € #Ag 91 v < feur § feufenr

- fapum 31 fa= Tt At > 0 3T ar > 0 M3 ar ug &
— AX —> X AUdH JuT < femr f&g J Ater J (939 4.13 a) |

few 3¢t ug € fan fag 3 <1 Ew fag 3 fd<t aret

. - AUTH JUT @9 EarTfenT Aier I fawet ferr eng
939 4.12 (a) AFG3T AfSH 1, (b) femgUS Ar Mg <t a1t <t fermr g S 3 &t v & ot
wmmewmwﬁwmm

\%

=<

I @ WAI =T ¥

Aae It :
mlaas 4.25 & »At Afert © weg T gu fIe dr
. ~ . vV=—
forsfguz 3gt Tanr Aae If, dat
—(xi+ui) = (xi+ui (Ax. Ay.)
we = [xieyf)-(xiryj) - ltmL—xH—yJJ ..(4.29)
2 4 At—0\ AL At
= iAx+ jAy
[VEN Ax Ay
feu AX=Xx"-xAYy=Y -y ...(4.26) =ilim —+j lim —

At—0 At At—0 At
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»” _ é\%ﬁ’\( »t < é\ﬂé“‘( y’Pa ég%“( v @

M P1 /P ﬁ 4 2

P P P 5 Ps Pd

r T,
r I, r I, r//r, r
0 x> O > o > o e
(a) (b) (c) (d)

939 4.13 fA2 fa<’ gt mit i39% Ar fAed St iHT § UG ag BT I, WA 29T § SAZ @ AT v T g T AT I |
vet ferr far fes yg I AUGH Sy S A3a J |

~dx

| v—1a _]d—t—vxi+vyj
o _dx dy
feg == .4
b X dt’ y dt ( Soa)

fen &€t & AN € %5 € gu <9 Ad faaenm
NI x MI y UIT I& 3T wit Qudas mitaast <t
I3 FId v M v, UST IT A I |

Afer v € ufors I& &Y MgHg J=ar |
v= v)2c +v5 ...(4.30b)

w3 fenet four, d< ¢ Tvar Js foy »igag
J=4qit :

D D
tan6=-<, §=tan™! [—y] ...(4.300)
Ux Ux

939 4.14 ST fam [aTAfEm 0 T & 0, 0,
w3 gaT & TanremT faprr I |

N

Yy
\J A
£ ]
~
Vxl
(@] x>

939 4.14 STAfEAVE W v, v, M TE 0 7 XTI &8
gEer J § Tonrfenr famr T f9ze feg v, =

v cos 0, vy=vsin 0

Y<4T (ACCELERATION)
x-y M3H &9 I3t I gt <Az € wing
y=ar a Qe Jqr 9 ufgeass 3 fars mit

MITH At € MFUTI & 93799 JeT J |
E—ﬂ A( xi+vyj)
At At
Av. ~ Av,, .
=—Xj4—Yj ...(4.31a)
At At
A a=ad+ay ..(4.31D)

YT (33AB Y=3N) MAZ Y=IT © A3 'S

¥ 99799 J€T J A< AT %39 g I "ier 3¢
. Av
a= lim — ...(4.32a)
At—>0 At
fH@"fE( Av = Avxi + Avyj, fen et
R Av n Av
a=1ilim X 4+ j lim
At—>0 At At—>0 At
|, a=ad+a,j ...(4.32b)
dv dv
A8, a,=—5, a,=—" ...(4.320)*
Y de T Y dt )
<91 &t 37 B8 St <rg € a3 § wamte

=% fan are <9 y=ar &t ufggmr & &t e
feit 7% Avg & Mg A It fem §

939 4.152) T (4. 15d) ferg ms o fapn 3 | fomr

* xmiy@u?ﬁ?axm?ay?;wmﬁsf&'&wewm@w—

a%x d (dyj a%y
La,=—|—|=—5
a2 Y ar\de) a2

d (dx)
a = | — | =
Todac\ de



(a) (b)

(c) (d)

92T 4.15 f3s MT M3TBT (a) At (b) At,, (¢) At,, (At, > At, > At,) € B #AS Y= @ (d) At >0 AT & 3foz #ms eng
€ y=d1 ¥ 599d JeT T |

fgex + 3 = <t Afadt e p oI TanTet aret
F1AL. AL, AL, (At > AL>AL) A & g o< ot
gfag‘fwfégWP],Pz,mmeaﬂTe“raw’r
JI

ﬁW(4.15)a,bM§'c%€ﬁWﬂ"%fﬁW
P, P, Py, Py 'T 29T Afemt & <t faurfewr fapur 1
J9d At & set Afer 73 © f3gw feom & =93
Jda Av @ Y15 YIT gde IT | Ufgg™T @ MEHd
#AZ y=ar &t femr @3t 9 7 Av & gt 91 it
oye 7 fq fAe—fa< At @ Ws Weer gier J
7 3gt Av &t faur <t ges<t aiet I W3 fene
a3 =a y=ar < =t fenr geset 71 #iz &9
At >0 AT f&g (939 4.15 (d) WA Y=,
IIITB Y=JT € 9789 T AT I M fenet femr
fd3q &9 9 wigng Jat J1

fones fe€ fa féx far fSe eng & SaT w3
y=dr AeT e Aas Jur fSe de 9 (feg Af 37 fea
It fewr @9 Je J& A @ue fowr fé9) ug € AF
f3s feut (ST a1t & et 91 M3 y=ar Afent &
feg 0° 3 180° © &9 St T 9= T AgET T

Gegas 4.4 faw a< <f Afgst
r=23.0ti+2.0t%> j+5.0k JI

fig ¢ Aoz &9 J1 39 great & H3dd fen

39" I fa r Hied <9 sanfen A7 Ad | (@)

FETv(M)M3I at)U3TAI: (b)t=1.0s3

v (t) 7 UfaHrE w3 feur uzT 91|

I v(t)= % = %(S.Otf +2.0tj +5.0k)

= 3.0i+4.0fj

dv N
a (t) = — = +4.0j
dt

a = 4.0 ms?y fenr <9
t =1.0sec3d v=3.0i+4.0j

fener ufonre,
J w3 fenet feur

15 o
0 =tan™ (—“j =tan™' (é) =53
v, 3

4.8 fan 3w [S9 fEa Ars y=ar &% arst
(MOTION IN A PLANE WITH CONSTANT
ACCELERATION)

"o %8 fa aet ng ffa mas x y f3g fia
AT USdT a &% JI3t 99 9dt J 972 a €T H'E
fomfag I fam it »igas &9 wing y=ar fem
AfEg YSaT €S a € 9999 J=dI" a = a | IS
& &8 fan fes t = 0 3 THZ &7 =47 vy M3 AT
Jg fes t I Quer a1 0 T

I ufggmT @ migAg

v=43>+4>=5.0ms !

...(4.33a)
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Sfaa fefarns

Sug &3 milags & Afert € wear € gu
fe9 I &y wigAg ear@< ot -
Uy = Uy + At

Uy = on

I WAt 9yiar fa A @ &% Afgst - Afer r
fom 39t gewer 71 feF g forft ot € et ot
aret feut €f =93 a9t I s 88 fa t= 0 M3
( =t feet 3 g <t Afadt & Afew gH=9 r, M3
r & m3 fegst fest Iae T Ty, M3 v TS|
I AT ITH L - 0 = t f[T9 g & WAI 4T (y,
+v)/2 73 feFEys r -1, 329 fa@fa ferams
WAI 29T MI AHT #ITH T IEeH Jer J,

+ v, +at)+v
r-r, = V¥ Y% |4 (Vo )+ % t
2 2

1
= Vot + Eatz

+a,t ...(4.33Db)

fen @et I:I0+V0t+%at2
few & Afvut It fA'g g1z A Aaer I fa
AHIEES (4.342) T HIABS E MHISaE (4.33a) T

MISFIT£=0, faa'zrr—r Cil:cEA RS RICY
WUIH)—ﬂHTS@Ma)B‘WE’HUf%HUﬁ
f&gq migATg T9nT Aae I :

...(4.343)

1
X=X, + 0, t+ Eaxt2

...(4.34b)

Mias (4.34b) & gt fenfn feg I fa x
w3 y femet &g ardtnt ffa-gnd 3 faasg st
gt 95 | I=, fan misSs (€ fet) fe ast &
€ Sy-Ty mast i fait fda mis y=ar gt
€ gu &9 AT Aae I 7 wun €9 39 ferst
ST 951 feg wi3=yas s3tar 9 7 € fent e
AT & I3t € femsne &9 Qudat Jer I
feg ufgey 3= fait arst © =<t <t 951 593
Aot 3fga Afagut fIT & &9 for=t &t 5=
Aferdsa 3t 1 fae fa yaua arst set gar
(4.1) ST Sutdr|

1
Y=Yy + 0t +§ayt2

Gegas 4.5 t—oﬁ—;;a'gare"raa'wfava'
5.0im/s € I 3B IBSTHI AdCTJ | x, y
3% &g 7 '3 ffq nifio 9% &g I o
8w f&g R M Y=ar (3.0 +2.0j) m/s?
UaT gdeT J | (a) fAR fes 3 < = x faaen
" 84 m I< 3+ O fa< = y fagem »ia
faaT 3=ar ? (b) fow fe< a= € 9% at
J=ait ?

I : YAS MEAd d< & Afgdt o fsu mitaes
MEAT J=it

1 .

t)=vot +—at

r(t)=v, t5a
=5.0it +(1/2)(3.0i+2.0j) ¢*

=(5.0t+1.5¢%)i+1.0¢°j

fen et x(t)=5.0t +1.5¢
y(t)=1.0¢>
A9 x()=84m,3t=?

. 84=50t+1.5¢t?
. 5.0t+\1.5 t?2=84=t=6s
J& dds I
t=6.0s, y=1.0(6)2=36.0m
dr

Ve =(5.0+3.0t)i+2.0t j

t=6s, €8, v=230i+12.0
fen et a<= & 95,

=|v|= V232 +122 226 m st

49 ¢ fewt fé9 wUHl Z9T (RELATIVE

VELOCITY IN TWO DIMENSIONS)

grar 3.7 {9 fan Aa® Jyr <t feur f39 fAaw
AT 291 ©F aest 3 ot A€ d€ 9, @W §
foit mHas fo @F (3 forit orgt @ et Jfgnt
fenafag ad Aae It | Hfew™ fa & Azt A
I B =TT, vA»BvBWaE&E'?aW(mms’r
f7 HUI% f5gen 999 fAe g3t € AUy J)|

fen #¢t eAg A & B € AUy a1 :

Vae = VA7 Vs

...(4.35a)
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J=arr| few yat9, THI B €7 A & HUY I IS
&y »igAg <9 :

Vea =V~ Va
fenset v, =, ...(4.35b)
M3 v, l= v, ...(4.35c¢)

o5 4.6 e fen fS9 35 ms ' €T 9%
3% =T J 9t J| JE M3 Ya= 3 UsH
fenr fS9 12 ms' & 9% &% AElAS IBT
gt J1 T9ur T 596 e Gn & E3t fan
fenr feg sarQst ggiat I ?

J5: 939 416 fR9 vy Squr € a1 § i
v, WdI eAIT IBTE AT JIT ATEtES & 9T &
TIATEY I&5 | fog €2 291 I3t € AUY TS|
fagfa »iaz Arela® 9% aat I fon &t Squr @
fam 291 = €7 & »re™ J=9r §U AEles ©
AUY 94T €7 2JT J=dI | 7=
vb:vr—vb

939 4.16 © nigrTg feu Ay 291 Afen ugem™
four &% 0 d< g=Tedr|

fr e v
l)b -~
tan 0 = —=—=0.343 g<&4d1r
v, 35
Hr 0 =19

fgsg 4.16
fen ®et vigz & »rust 834t uge™ femr
f@9 19° o7 g g='QT T UeH <& JusT Iratat
JI
AT fer yAs M3 @ewes 4.1 € w39 3
forrs fe@ 1 Geugs 4.1 R g®a § € Sarr &
ufgenit (Afem 7F) & w9y Jger I A fa fen

@ea9s ST 9z & Arela® € AUy S9uT € 9T
(& 29TF & Afed »39) & wgH ger I
4.10 YHU ISt (PROJECTILE MOTION)

fem 3 ufa® gmar fSg Wit 7 feg9 feafaz
a3 I, GeUds =x Gust € =93 wHl yuua
o a3t € wfrds € Bt J9tdt A JE A
et d= 3T BH § yuud FfJT 9% | wifaar yuua
geu®, fgde & die, AT A J¥t 39 A J
Aaet I fam yaua ©F 9t § € S-Sy IHaSt
a3tt € wea € ufge™ € gy &9 famm A
Aaer J1 fegst &9 fia wea fast fan y=ar @
fuz#t fenr &9 e I W3 gHa™ g3 9% @
a5 fed s y=a1 3% ugemo fenr i der
JI

A9 T ufgst JEifsg & vus sy sfesar
s fe gl =983 fAFeH (1632) 9 yuua a3t
o fuzs#t W3 ugTof weat € 339 ™ ©T
fagg a3 At

fen mifers &9 »irt feg Hatar fa yauw &t
gt 3 ger T yIteu Qufuz 91 Hfewm fa yaua
& fadt femr 2% v, 291 &% Hfewm fapum § =
x-U3 &% (f939 4.17 T »igwma) 0, d< g=ge T

Het et eAg § Wwiug qas e amie QR 3
Jg3T € IG5 BT IH YT € fenr 35t I
i

a=-gj

7 a =0, a=-g ...(4.36)
/
y
N TTTTTTTT S
1
=) 1 )
ER Y la;gl
7 1
= i
i
i
v A0 ! 5
O ic—v, cos O—> X

999 4.17 vo =91 & 0 d< I YufuI fan =ng
<f a3t
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MIfgd [T v, & W IS &Y nigHg I :
v _=U, cos 0,

..4.37)

# 939 4.17 € wigAg THZ ©F »afga rfadt
fsgem 339 € ys fég 3 9=, 3F

x =0,y =0

fen 39t milaas 4.34 b) § Jo f&U nigAg

foytar -

v =v sin 6,
oy o

x=v t= (vo cos :90) t
w3 y =(v,sin §) t-(%)g t? ...(4.38)
MHF9s (4.33 b) ©f <9I Jdd fan AT t &

Bl 291 € wedat § I ey I milaest 5%
TIATTEMT AT :

v =v =0, cos b
v, =y, sing -gt ...(4.39)
miaas (4.38) 3wt fan fae ¢ 3 nidfga
24T v, M3 YEUd de ¢, & uet <9 yaua &
ﬁm@nmaxmgyumgzrmlf‘aﬂam 3
fons fe@ fa x m3 y fem=t € »un f<o 39
JdT & 9T a9s yuud I3t © femdne &9
I Ag®3 I It J1 [T ¥ € wedt 9 T «
wed ISt € Yd A €975 Afgg afder 9 A fa
THE y wzafsns?uhea’bgﬁ?%ﬁ?ﬂrs@
YU A33937Y9T J&t faar fagr g2 1939 4.18
mﬁﬁﬁwemmﬁwﬂkﬁw
WWUlW%@ﬁm@w

<% g € Bt v, = 09I

5]
g=tan'-2=0

UX
YHU € YT € AHIAES (Equation of path of a
projectile)

YHUS ©HTdT 9% JIE IAS ©F g3t at get

J 7 ferne et A ug T milads U3T JaaT J=aT |
MHiaas (4.38) fE9 &3 I x M3 y feriaat f<°
t & 34 I35 &5 forafauz mitags yruz ger
J:

y= (tan@o)x—Lx2

2 (v,cos6, )2

feg yaua € ug v milaes I w3 fen §
fifgg 4.18 f&g foufou famr 31 fa8fa g, ¢

...(4.40)

0

M3 v, AfEd I&, AHIITS (4.40) & I5 &Y #igAd
TIAT AIE J7 :
y =ax+bxfen ffg am3 b Afgg Mia I5 |

feg fea Uorgsr € mildas J 7 yaud € ug
UgrgsT Jer J1
A
Y V=0
V_voxl
25
N4
v i
! WMox1
N V()x/l\ AN\ !
. vyl !
A v/ -
Yoyl !
0,
O
Vox 1
A
vl
939 4.18 yua = grzT iagsT g 7

nwifgadaH €978t @7 ANT (Time of maximum
height)
yaud »ifgaan Gt 3 UyaAe et fdar
AT 8T 3 ? v 56 fa feg mit ¢ I faBfa fem
férg 3 v,= 0 fer et MitdTs (4.39) 3 wAT ¢ =T
H'& o€ Aae JF ¢
v,=v,sinf —gt =0

| t =v sind /g .. (4.41a)

yaug € 37 € AN €975 SfardT 9% Adt
T AT Miteds (4.38) 99 y = 0 7Y & YU &9
Ao I | few ®et,

T—2(v sin 8)/g ...(4.41Db)

T, & yaus € 83 & (time of flight)
aﬁle'a??lfeafunmeze?mafaT 2y, |

mamgmmﬁmeﬁrw
Jaa TT

ugiusr gt mifgasy €9 (Maximum height of
projectile)

MHidds 4.38 T t = t, IH o YU g™a™
yuz wfuasH §9El h, ©F desT i3t AT
Aaet J1
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2

y=h, = (vosinao){vosgwo} g{vosgwo}

2
(uosiné?o)2

| h, = ...(4.42)

29

ygya €t fysat 37 (horizontal range of
projectile)
wIfga Afg3t (x = y = 0) I ¥% o Sn Afa3t

3 A€ y = 0 I=, YuUd 9T 3 J13T aret gat
& fuz+t 37 R IfIT I | fuzat A, €3 T
T, f<9 3 3t aret gat J | few et 7 R I=aTT |

R = (v, cos 6) [Tf)

R =(v,cos 8) (2v,sin 0)/g

_ug sin 26,
9

miaas (4.43) 3 A= J fa fam yaua € ar

v, Bt R #fuaad @€ J=9r A< ¢, = 45° faffa

sin 90° = 1 (/ sin26, & #fuagad v J1) ferr

af R ...(4.43)

3g rifuaaH fuz+t o7 9=ait|
2
Ry = u ...(4.43a)
g9

fegas 4.7 IBHEG & MUt UAsT “2
fa€ mfema” feg fagr I fa “Quat o=
ISt (elevation) & BT fAgaT € TS 45° T
§dTHd HT3dT &7% 20U AT ufe I, fugdAT 37
g99g Jet I few qus & g a9

J& : A JE YU 9 d I mdfed [T v, I
Hfewr a7, 3+ €<t 37
_ v sin26,
g
IS dSt (45° + o) M3 (45°- o) € BET 20, &7
HTS FHITT (90° + 2a) MT (90° — 2¢) J=II™ | sin
(90° + 2a) M3 sin (90° — 2¢) €& W' §ITSd AT
cos 2¢ Jar J| fen zet Quast Q9= det BEt
fAusT Bt & 45° F g9T9d HTIdT @TaT uie AT
2U J, fyaHt 37 g9v59 J<t T

R Jaait |

Geggs 4.8 BT Ues wr3dt fan ugt des

T da IYFTJI¥s Mils 3490 m € T

€ fEa tug § fuz#t fenr ff9 15 ms! &F

MIfgd 978 &% Heer J 1 g=T € ySeu &

fsgrer vise 9% feg 3T 99 fa Ugg § mits

Zaa9 e A Gret g% fast At ?
g=9.8ms?

W:W@W@éﬁ?}xh@y@%@wﬁg
W3 Ugd He A€ € AN & t = 0 H&1dT1 x Td &F
TSI forr wigfger <91 ©F four i< w3 y o9
@t gsaHd ferr uge™ Qua <5 gee If I fae
fa vt ufost afs g 9t fa It @ x w3 y wex
e oY 3 foag9 ot a9, for ot
xt)=x+v t
y (1) =y,+v, t+(1/2) a, t?
fAg x=y, =0, voy=0, a,=-g =-9.8m s?,

v, =15ms
ugd G7 i ols &% eqar@er I A9
y (t) =-490 m
-490m =-(1/2)(9.8) &
G t=10s

SITWed v =v, MI v, =v, —gt I | fer &,
A Ugd sHls &% caager J, 8

v, =15ms”
v0y=0—9.8>< 10 =-98 m s’!
fen =et Uug ©f 9%

JuZ+v] =415 +98” =99 m s~ It

Gerggas 4.9 fuga I €ug ¥% 30° @ T
g=ge 9T feq faae diw 28 ms' & 9%
&8 Hel Jet J1 (a) wfuaad €9met <t
J=5T Id | (b) GF Uug I udse 9 &ar
AN & IeaT J3 MI (o) Hes =8 fag 3
gn fég <t gat frraet O g °3 U 3,
of IIEaT J9 |
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J% : (a) mifuaay Garet

(v, siné, )’ _ (28sin30°)”
29 2x(9.8)

h

m

28><28><l><l
2 2

2x9.8

_14x14 SR
- [
2><98 =10.0 m

(b) €F a3® ‘T TUR MG ST Bfapdr adT
=(2 v, sin §)/g=(2x 28 x sin 30°)/9.8
=28/9.8s=2.9 s J=dI'|

) Hee =@ g I Cnfag St oot M e G
g 39 YAt J -

D2 .
v.sin26 i o
R:(o 0) :28><28><s1n60 _ 69
g 9.8

g=r ySi9u €t Qufn a9 - fer HE3 & mAs
nadg &t I ? (Neglecting air resistance -
what does the assumption really mean ?)
yaud 313t € fen <9 3l J9e A wint feg
faur At fa 9= € ySiou & yuua &t It 3
et MAg &JT I=491 | g7 feg avgeT Irdter
J fa fen g@a @ »A® »dg o T ? 3491,
feramzT g%, g=er yJtau feg A9 dadt g%
I& | 313t =7 fegu J9e mn wifad g8t &t igeant
Emmﬁmmﬁwﬁwwm
fere A=, E'gamﬁnr'%aﬁlfsrme’r iuir
U9r8f&d gH3 3 I3t da¢ JET Yuud I=T y3tau
<t Hgeatt e fonfex qu L9, mmust »iean
ZdAdedt (trajectory) 3 fegfesg T A=ar €7
TI'3% &% OF 291 &% W™ I cdaredr fan
&% QU Hfew fapym At | 9= y3idu € Hgeait
f3g 291 T xwed Afgg Ifder I W3 fAage y-
weg {9 It BaraTg ufdedzss Jer J1 wiug,
g=T y3iau &t ¥gedit 29, feg €& ot wea
ygrfez gdr | fener »9g feg I=ar fa yuua
ot fuzdt 37 miaes (4.43) @™ YU3 W'
I ule 3241t | mifuaav Garet < aHtaas (4.42)

TATET YTUI HTE 3 Wie J=ait| 3T, at gAY
emgT Bar Aae J, fa €3 aw &9
ufg=das J=ar ?

f&g 7" 5wz We oo < afgst f&g 9T
J=IT 7 MAS A &9t I | A mAT ‘g=T yStau
& QUfy3z a9 fee g’ =9ar ¥ & <93 dae
gt, 3wt feg afoeT gge Tf, fa 37, @9t
=JdT Uddteat fT9, fered ads I =%
ufgedzs, J=<T Ifaag Afast feg ugT fegst &
H&t &t 3saT fEg 993 e I | fast g2 y3idu
& feug ST four 3 greaT agaT Aur Jer 7
gae G Afgst € 7wt o= Y3ty &
diceT 9 8¢ IF|

4.11 &€ A& Jadt ISt (UNIFORM CIRCU-
LAR MOTION)

A¢° g€t TRg fea ms 9% &% fea
I99dd IHS '3 9%t I, 3T @Ag € ISt §
AN Jaat a3t (uniform circular motion) afde
75 | gge “ffg as” €1 9% @ dedg &9
=gf3rm faprr I 7 =Ag €t ISt € AN S0 i
s (ferfal) afdat T ifem fa fegg 4.19 @
WEHAg Jet TAg T s 978 v 3% R #au
few™ =8 Ja9 @ wWd I I3t 9 J1 faffa
THZ © =41 &1 fenr &9 sarag ufgeazs J fagr
3, few met @n <9 y=ar Uer 3 fagr I 1wt y=ar
=" Ufaurs w3 Guet femr uaT Jaat I

He 8 r3@ r M3 v W3 v I <t Afgst
w3 ISt Afen I& A< €T I3t € S9'% gH=9
fagnt P 3 P 3 75 (f93T 4.19(a) | ufgemr €
nigrTa, fan fig 3 g @ 291 8w fig 3 o=t
ﬁwmwwﬁmmwmm
4.19(al) fE9 291 Afent v W3 v § foufenr
farr 1 f939 4.19(a) &9 Afew 73 © fagw
faw @ QuEar 9ad Av U3 a9 &€ I7| faBfa
IAIT IadTad =T J, fen Bt {939 9, farfuat
IR IfT v, remI v, re B9 Is | for et Av,

Aremaea'rrl)-lsfa@ﬁmuemm(a:ﬁJ

At



™I &g arst

87

(b1)

(b) (©)

939 4.19 €7 mirs Jadt arst few fam =Ag & =91 W3 y=aT| I #8395 AL, (@) T () 3T Weer T w3 (¢) 3 freg T
IIEIT Ug ¥ 99 4 3 YS9 999 ¥ d w9 & & T

ot ferr 9 3, ferset a St ar I BT J=arige
A Aavd QR I e A rmad refia e
d & € gar f&9 &3t I 3T winAt Suiar fa
fer<t four 9a9 @ a'ed <% J<4ait | feast abyT
& 939 4.19(b) <9 8¢ A #39T® © et
feyfenmr fapm J1av W3 g <t ferm U8 ded 3%
J2att| f[939 4.19(0) ff9 At=0 T, fon Bt wing
y=dT, 33T Y= € g9 g Ater I fenet
fenr dwg ¥% J<t T 1* fen 37 feg fifer feamer
J fa e mirs Jaat ISt € Bt TAg T y=ar &
fenr 999 € d'vg <% Jet J1 g WAt fem y=ar
?uhm?wmluﬁwew a<Tr
uhwsaﬁf&uﬂgaweam{rwal

|Av|

He B8 ru3 r/e f39 d A0 J| faBfa Sar
Afed v M3 v’ AT AfE3t Afer © &9 J¢ J5 fem
el Quat feg® d= <t A0 d=ar| fer »et Afast
Afent @mrar get f3gd ACPP’ W3 =1 Afent v,
v’ M3 Av ©ATIT g2t f3gw € murg &t Furet M3
faatg & gaT €F duret v wigura gHd f3gn @
HATZ &97ehdt @ MEU™S © §d9d d=dI’, I'<

|Av| |Ar]
v R
|, Av=v%
fen et
a|= lim |Av| lim Mzﬂ lim M
At—0 At At—0RAt RAt—0 At

H At &7 J, 3T A0 St ger J=ar | »ifadt Afast
f&9 97U PP’ & B9l IArl € 99799 & AT T

L |Ar] = vAt
U M =
At
. lim  |Ax|
—=v
T At 0 At

fen yarg, mfgaedt Y2 a & vE I5 B0
WW U%'a'rr

v
a = (Ejv= ”/R
few yarg fam R w9y fom =78 Sdaag
MIATd TB IAS @ Wd I v I8 &% JIST Ia<l
IAZ € Y= & UfoHe v?/R Jer J franet femr

..(4.44)

* At=0 AT fS9 Ar, re 89 § wrer 9| fen /v <9 fa@fa Av~0 Jer 3, 53t = feg =t v & &9 J=9r | fen Bt Jaaaa

vy 3 999 fig 3 y=ar & forr aee % I<t 91
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AeT 9t 999 € aEd <% Jat J1 fen a9 few 3gt
2 yIar § wfgadedt yIar (centripetal
acceleratioﬁ)aﬁl@'ml(ﬁﬁw%@%%w
At | wfgadedt y=IIJr 378 AEfuz AUIs

ferdreTava 84 A9 T ufgsT 1673 f¥T & 59
fefarrast fgufews gfedsism (Christian
Huygens) (1629-1695) & YdHI da<TfemT At
ug mfee fsGes § =t gy ms ufgst few @
farrs 3 gar At »ifga’edt § »iagdt 9
Aedhites (centripetal) a‘ﬁ:@mﬁfﬁaaﬂam
J fam 3 3= w9 ¥% § JI fa@fa v 3 RES
AfgT g5 fen &et nifgaedt y=dr er ufone =t
&4t guweT ug four sest 3fdet I M3 Ao aed
Iw §<t 71 few 39t e feaser T fa mifgaedt
y=ar fea mrs Afer &dt ger J1

fan sng € ffa mrs Jadt arst € <ar W3
y=ar & wAt feq gradt 39t & Ay Aae It
939 4.19 &9 fey™® I MaHAd AL (= t/— ) AHT
Magw fSeAd des P I P/ 3T YA Aer J 3IF
JuT CP d< A0 3 WH ATET J1 A0 § wft a=T gt
afde gt | It [T o @ #Wud ‘QHar) § T
det gat € mi &8 ufasdags &t =9 & gu feg
ufggTz gae It | fem 39T,

Y

ool
At ...(4.45)
g # AtAN ST dT guar 3w St gat & as

&% TIATEIT (=< PP = As) I,

AS
oS
At
ug As = R A0 fer gt
AO
v=R—=Row
At
fen »et v=Ro ...(4.46)

wifgdedt y=ar § #rt det 9% & gy <9 ganr
Aa< 77| 972,

...(4.47)

daq € T Jag BarGe ffg eng § 7 mt
ST I §F § mirt »ie9l I T Jfde ot | feq
Aoz fI9 =Ag 8 Jaq st J, 67 & »ft
IAZ & wrfeSt v afde ot ug &8 an fSg <Az
oATT 3 3T et gt r= 2nR JEt I

fem et

v =21R/T=2nRv ...(4.48)
fern 39t o, v M3 a & WAt wrfest v € ue
fe9 Ton™ Aaw O,
o =2mv
v =2nvR

a, =4n*v’R ...(4.49)

Geggs 4.10 et diz3T foq daaag &
yig @ f39 fam @ »ay form 12 cm I,
e famm J1 €9 ¥i9 € W9 3 Afgd 9%
&% 9%<r I M3 100 Aaw &9 7 9949
I FET J| (a) IS T ISt IS M Iut
9% faat g2ait ? (b) dt y=ar Afen fea
WM9% IHT I | ferer uforre fasT J2ar ?

J% : feq s Jadt arat e feq Gergds J1
fff R =12 cm JITSTTH 0 THE
0=2n/T=21x7/100=1471/100=0.44 rad/s

I I T I8 v THS

v=0R=0.44s'x12cm= 5.3cms’!

Jar | 999 € 99 fag I Jar v <t fem G
fog 3 Auan Jur & ferr fT9 9=at »3 y=ar =t
feur a9 @ J'ed <® J=dit| fa€fa feg femr
Az gesdt afget I, fen et y=ar fda &v
OB TH MOS IHT &4t T UT Y=dT ©F uforrs
W9% J, farer IS

a=0*R=(0.44 s1? (12 cm)
= 2.3 cms™!

J=ar|
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10.

11.

12.

13.

H'd (SUMMARY)
nifer It BT It I35, frust e fige ufore JeT J | 2dt, 7%, UA g STUNTS wfer IR € 3% B8 995 I8 |
Afew gt @ It 9a5, fAgst € uforre w3 ferr €< ge 95 | ferarus, 291 w3 y=ar wirfe fen 3gt ahwt
THPHT @ g9 §erdds I | feg ot Afer Stadife 3 € ferm faoHT e Uss daati aa |
+ fa Afew A & far smafed Aftm A 57% greT adte 37 AvS o grgr Afer B yuz ger d fAamer ufers A
ufoure @ A JreT ger I | &< Afew dt ferr A7 37 A &t fanr 9 J<t I A7 fone @we fonr &g | femr femais '3
fadgd aa<t I fa A TaTaHa I AT faesTaHa |
@@AﬁBémww?ﬁ%m@méw&ﬁ?#thﬁ?@uﬁaaﬂ?
HarJ|
AfeR 73 gH-Ufg=d3s fau e urss gaer T
A+B=B+A
&% J1 feg Afagrdt fso et ugs gaerI =
(A+B)+C=A+(B+C)
TS Agdt &9t J fene Je fer gre de 9 :
A+0=A 20=0, 0OA=0
Afew B M3 A f*5 werG= & fafen & wit A Mz -B & 735 € gu <9 ufes iz gae a7 |
A-B=A+(-B)
far nfen A & 67 mis® <o Afg=s & Afert a M3 b &t femret &9 € wea Afent fg fe@fmz Sgr AT AaeT J |

A=)a+ub
g A 3 p TSI A= 95 |
far Afen A 5% FEfug fearet Afer Q9 Afer I famer uforrs fea Jer I w3 fane! farr Afer A & farr <% 3<t
J | fearet afem 4 _ A
Al

fearet afer i, §j, k fearet ufore =& Qo Afen 95 fAgst &bt femr=t HaT Ju fsaen #ia yemat (Right
handed co-ordinate system) & Gfant HIT x—, Y-, z— & fed F gEit 95 |

< fot et Afen A § #it Jo fad nignrg forag aaa 9t A= A i+ Aj

68 A "3 Ay THIT x— , y- Ufowrt &t ferr S5 A Wex 36 IH AfeR A, x- U9 5% 0 d< gergerd, 3

N A
A, =Acos 6, A=Asin 673 A=|A|= \/Af + A, = \/AZ cos?0+ A?sin? 0 ,tang=—2L
AX
fem@nerana fedt (Analytical Method) &% <t Afert & »ATst 57% AfguT A7 A= I |1 x-y M3 fEg e
AfeRt AM3 BETH¥ RIT 3T R=R,i+Rj, &R =A +B,,m3R,=A, +B,
IS &9 fai <ng <t Afast afer r & fimeraa I {8 nignd feag 98 I : r=xi + yj
Afe3t Afert r w3 ' fegaTe femgus & 95 fe3 mans feue ot
Ar =1'—T1
=(x’—x)i+(y’—y)j
= Axi+Ay3
Ar
At
TSI AT WAg ST AN TS @ Sdrad Jer I A At fAed @ a3 Taer J197s,
v lim Ar _dr
TA—=0A: de

H I THZ AHT "Iz s At fR9 Ar 5% ferafuz gt 7 3T Eae Az 29T v - — J<ar Ifar feT t 3 =ng
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33 fefamrs
dx dy dz
vV=v l+UyJ+Uk fag vk = at’ Uy = dt DZ_E
A< fan fogen #ia yemst f&e g =t Afgst § Sarde of 3t v &1 forr g & ug © <99 =1 OF fig 3 fust
et Auaw JuT €t ferr f<9 gt I
14. 7 TAZ T T At ANT W39 99 v 3 v’ <9 g8 Afer I 3 Gre #inz y=ar

v-v Av _.

TN T A

7€ At T AHZ W figg I Aer I 3t fan fes € Sz €7 U=aT a = lim Ly _db J=ar|

At—0 At dt
wed € uet &9 fend I fou nignrg fenaz disr AT raeT 3
azaxi+ayj+a k
doy dvy, dv,
a v a T

15. A g =g far migs fSe ffams y=ara = lal =|d +& & IS I3 fee t = 0 3 Qe Afast
Afed ro, 7, 37 faw 39 fee ¢ 3 Gnet Afast Afew

feg ax =

1
I=r,+V t+2at2 J<ar w3 Brer a1
V=V, +atI=Ir|
8 v,, t=0fes I eAg e =aT§ feraz gaer J|
weg e gufsg

1 o
X=x,+tvu,t+—a.t

1
Y=y, +0, t+§ayt2

fom miaw i< fa mirs y=ar &t oSt § © fu-Ju miarst fea fart w wimum feg #9 gu ST st € rug
Ui © gu fE9 He Aae Tt |
16. yafuz I 3 e Ae get @nz O ST 3t I 3T OFd yaua mmie 5 |7 x- U9 3 0 I 3 THZ E7 mdfgd
v, U?tﬁ@WWﬁMWﬁWM&W%MWWl
x=(v,cos g)t

y=(v,sin ) t-(1/2) gt2

L, =V, = U, COS &,

Dy =D, sin 6, — gt

2

=

=~ a - o a x
YU @ ug taasT ger 3 fanet miteds y = (tan6, ) x - g 5 J=ar|

2 (v, cosé,)
yuug & nifagsy Garet
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(v, sing,)*
hy, =——F——"3
29

fewr @omet Fa udue fEg Far it ¢, % T
YHUE T oMU T mdfga Afast 3 6n Afast 3a, fam set Jot §3e9e Mt y = 0 3=, 95t aret fusrt gat &
YU €t 317 RMYE I5 |
ferm et i ST Rzgsmzeoaéam
17. 7€ J€t @iz ffd i 98 &7 fea Jadt ug '3 9e<t 9, 3t fend ffa s dadt arst mmue o8 |7 faw @ng

éwUﬁwwwm@mRﬁwn@WﬁMa —vz/RU%EITFMB'ﬁHEﬂ'ﬁd’HTU)-WWE'HT:!H
exﬁéaﬂlaﬁwWaeﬁgﬁgwuﬁeasxﬁeagﬁmaﬁeav oR T M3 Y= a, = 02R =T |

7 EAZ T =G TB T3 vt v 3= 3t o, v M3 a. € U I6 T4 »igrrg g1 |
o =27nv, v=27VR a,- 412v2R

st | R | fer sl
Afadt nfew r [L] m

femamus AT [L] m rfen fan d9 1%175 &% <t fend
fenag g Aae T |
a1 [LT™] ms'
(a) %A v = %, Afew
dr
(b) IIT& v =— Hfew
y=ar LA ] ms”’
() »Az a 2 ,
At
dv
(b) IFTHT a — Afew
yHue arst
(a) »fogaw Gumet BEt ¢, [T] s _ Up sinfyp
Far AT g
(b) mfuaraw Gret h. (L - _ (g sinp)*
2g
(© fugstdw R [ - _ Ugsin20,
g
Jadt arst
(@) §tT% ® [T] . A0 v
At R
= = )
(b) mfgaredt y=ar a, 1l e _ Y
R
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fegaatiar few (Points to ponder)

fam =Ag ovraT € fgowt @ fSgarg ug-d9met AuTas 39 '3 fergus € ufours € 5999 &dt J<t | femgus
=% ug & wifau fient 3 fagga geer 3 | mefa ug-damet (e fa &t 3 mive §) =wesfeq ug 3 fsggg gaat
m@%m@gﬁwmﬁwn@wmmmmmmmmwm
&g ug S9et femarus © ufare 3 famer 35t 31

Suda= fag 1 3 g & "INz T7% fan o3 ae miT-»iges f<9 Af 3T OFe %Rz <91 € ufoe & g9rea J=ait
AT G 3 favmer 32431t | €2 59799 §F Jait, A9 ug-89e! fergrus € ufons & s9rgd 3= |

Afed Ma9s (4.3 a) M3 (4.34 a) U9 &1 9 3 fad9ad &4t aae | 90a IHT Gust & & i ufot &t femr feg
feGfAg o AIE T |

fea AT U=a1 BEt Huarstat miidas fed s Saat arst fee &7ar oot g fabfa fer fRg y=arer s 3t
Afgg afder I udg Gnet ferr g9 28 geset afdet J1
Hfﬁﬂ%ﬂggeeavlmgvﬂ??@wwu&l@wﬁeav V) + V, J=9T IBUIAS FSa M3 SAg 2 ©
HUY @HZ 1 T A IR v, = V| — V, € 3T § 93t 3gTAHT | fE8 v, w3 v, far ATY fsaem 339 & AUy
THZ TPt ISP IS |
Waﬁmm%@mﬁmﬁw@w%ﬁﬁ?%ﬁw@ﬂéwﬁawﬁl

foi =ng ©f a3t € A2 = »iaTe fAge y=ar 3 7t fagumaz aat Jer udg feg arst &bt wdfsa memar=t
(TS Rfgt wZ wafaa 2an 3 =t fsagq g9er J 189995 mfesra?alaz@’ruemwmmm

T IAIT HIG Ut <t T AT I AT q€t YITEBT =, mifAaT wiafgd wiera=et '3 fadgd g2ar |

4.1

4.2

4.3

4.4

4.5

4.6

mfa™H (EXERCISE)
I fodbut Ifgea awbut S 7 fa faa=tut afew g5 w3 faagtut wifewr ?
wfe3s, U, 978, Y=dT, WS 3T, HS Aftem, 24T, It »ife3t, d=t =4 |
Jo feut gt f&9' aet @ mifew gt gt :
9%, IS H=dT, 79, Jde, IdT HdT, farse! 439, »ing =91, 9901 e, ATt <41 |
Jo faut gat fSS° ffamza Afem it €7 |
IUNTS, T, =T, AW, B3t Yt ug Saret, Qo Ig3=, USHS, 3918 ST, 979 |
T9& AN ©F fa mifer »3 Afer It 578 J6 fautt girarfefsa fafenret nigg-yas 95 7
(a) & wifent & AzaT
(b) & gt feut € fea afew w2 fea vifew § AzsT
(c) fEq Afen & fea nifen 7% e JaaT
(d) € »ifent e IS
(e) € Afewt § AZaT
() & Afew € wea & GF Afem && 73T
Jo fafant <9 999 98 & fors 5% U3 M3 I9a Afg3 SR fa A I AT 85 :
(a) fort mfew @ ufovrs oyt fea mifer Jer g
(b) o Afew o g9 wear It e e |
(c) fai &= TvmaT 1 13T ITEt um &t A% Faret oimt ferarus Afew € uforrs @ sarga It J |
(d) foi = St I3 T7% (T 3 9% ST &31 AN 578 I791 13t a% UG STt AN € IS »igas fegas &
WAI 297 € Ufors 3 e 7T €Fe saraa It T
(e) €Ut f3w nfewt o 7= 7 fa mias &9 &0t o5 | < <t fagg Afew a0t Je=r |
J&t faxrt mmilaest (Inequating) € fAaGhedtas At fan 39 feut 7@ marusT 99 |
(@ la+bl < lal + Ibl (b) la+bl > lal + Ibl
(c) la-bl < lal + |bl (d) la-bl > | lal — Ibl |
fegst i e g e fgae srgrderd ?
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4.7

4.8

4.9

4.10

4.11

4.12

4.13

4.14

4.15

4.16

fé3rTa+b+c+d=03J5 &3 I° qus’ I faga Adt 9 Q
(a) a, b, ¢, d fS5 I3 fAga Afem T |

(b)a+ce UfgHEeb + d ¥ UfgHs & S 9d J |

(c) aTrufar= b, ¢ M3 d T Ufo=T € A9 3 ¢ ST U I I AaeT |
(d) Tam3 d AUt 59T I& 3Tb + ¢ Fg3 It a =z d € MH3s f[Sg I=ar»z
feT a w3 d < four 2% J29r | 799 8T Aot 75 |

3= s=at 200m MIufe™ THT Iad MdTd € 5961BT AT 3 Adfedr Ia
I 95 1§ AT @ faaTg € fig P 3 Aaféar ig Jaett 36 M3 P € femm
TCwe fig Q Sue -y urt 3 I udueh g fae fa fg3g4.20 <9
feyrfenr fapnr I | 99 B34t & ferarus Afen eruforrs st T 2 fam =t
e feg v fRg Ade SIS IR ug S Set S 995 T 7

et Areta® A=Td faH 9addd € g € 39 O 3 IBST Hg JdeT I M3 P

uae @ faaTa P I ugger J | feg 3 €v urga @ ufovry <t forr 2% Aretas 939 4.20
geTgar gfemr QO T In3 (fAe fa 939 4.2 1 f feyfen fapnr 3) ae9

3 TR T AT J | U @ »add fed 1 km J 1 7 Y3 999 & 10 fife

[N

FIE I 3T ATEIAH AT €7 (a) IB fergrUE (b) %A3 ST I (¢) WAI I8 dt =41t ?

Q

fgg94.21
o u@ Hers 9 aEt Hea T7&d mifAgT gA3T Mu=™8eT I 7 99 500m < g™ A< ¥8 UH 60° < I NS
AT J | far fo3 38 He 3 9 3 Hed 9784 € 39, 8% 3 wies 13 3 femaus oF | 599 Afest fEe Heg
T8 AT fegst H3T 3 I 13T ITet I8 ug-da7eT € 578 feraus @ ufore @t 3gaTaq |
gt w34t fan &< wigg fEa »rfenm w3 Qo rers 3 faw fifdt Aea 3 Afes fan Jew ST 7 10km g9 9, AT
IgeT J | JE FETE St 9% 23km € 999 & IAT 3 G & AT I w3 28 fie gmie Jew ugeer I
(a) ST S #HI I8 W (b) WAI T @ UfoH'E &t J=9Im ? St 8T 9999 7% ?
Hig T Ut 30ms ! € 9% &% Y §UT IoT faar faur J | 98t miaz €39 3 Tue <% 10ms ™! St g% &%
A% 98T gdt I | G mrust €34t fan ferr fee dust sl<t d ?
get femat Afgg uet ff9 4.0kmh! €1 9% &% 39 AgeT I 1§78 1.0km I3t &€t U9 g9& fog faasr mit
FIET 7ad et 3.0kmh~! T Afgd 978 &% =fT 39t T M3 €T 5<t @ =9vg ot Saava ferr feg Ja faar 3= 7
7o §uaet T gd fas 2 ugger I 3 Qv aet € =o€ <% fast gg uggar ?
fom f=garg fE9 72kmh ! €t 9% 5% 927 9% 391 I M2 S=9arg fE9 ugt fan fanst e Que Sar 3T N-E
fenr f<g Bfagr faur 9 17 8o famst €39 ¥ 51kmh ! &t 913t 5% I8 5y 99 €< 3T fanat I Har $37 fan
femr f<g sfgarear |
fom &9 g% €t €3 256m G5t I 1 §net mifuasu fuzst gt fdat I=ait fam fS9 40ms! €t 9% &7 Het aret
TE T3 5% I fast FWATE ?
faae eraet fugtat fan gie & 100m &t wifuaasy fuzt gat ST e raeT I 180 fusdt GRae §mits 3 €ue
faat Qordt g He raerJ ?
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4.17

4.18

4.19

4.20
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4.22

4.23

4.24

4.25

4.26

4.27

80 Hieg & urdr ¥ fea fAg I Yaa Sfeur fapir T wizg fend fan ¥ mns 9% © &% fan fus+Ht dag <9
UpHfeT /ieT I 1 7 Uag 25s f9 14 mw@vawmemwmw@ﬂﬁmaﬁrﬁéﬁ ?

g€t =l A9 900 kmh~! &t fea mis 7% 578 §€'F faur I M2 1.00km »igu fenm e Jet fust su
gerger J | fere mfgaedt y=ar <t Igsst y=aras 85T ad |
&t fio3 e gust & fos 7% U3 M3 I9& © o IR {9 feg /e g5 At 54t |
(a) Sat a3t i< fam g &7 &2 Y= AeT 949 © mau fenm &f ferr I aea S8 Jer J |
(b) fagz e 3 fan < = <9 Afew Ao €7 T 3 a< € an= &1 Auer 3y &t ferr fRg Jer g
(c) fam g< = fea M Jadt a3t feT f€a Jaq &g fenm famim »inz y=ar afen f€a Mg Afem gem 1
fom g &t afast afew I f&dt 3
=(3.0ti-2.0t? j+4.0k) m
feg t Ags &9 I 3 A9 ot & W39d fer 397 95 fa r & Hiea &g W 77 /a |
(IS T v I au3Tad |
(b) t = 2.0 A I A< & IT &7 Ufgwe w3 femr faat 5=t ?
getae t=0fes 3B AT T 10 jms™! € 2T &% IBST HI FIe I M3 x — y A3 I foa mirs y=ar
(8.0i+2.03) ms 2 &8 ST IdeTJ|
(a) fom fee g T x fagem vig 16m T2 ? fem ' fereT y- fagem »ig fdaT g=ar ?
(b) few fe= a< &t 7% faat g=ait ?
i M3 j T x- I y- U3 & fewr (<9 fearet afen J 1afent § 4, j »13 §— j = ufowre w3 fewr ot 3=t ?
AfeR A= 21+3j ¥, jm3 |-} © forret <9 wea usT o9 | (IAT aT= et ot =93 qe Aaw J)
AUn fE9 i fAe Waet T 94t 913t © et J6 oy it (S5 faogrwe J 7
@) Vi = (1/2) [v (1) + v (1)]
(b) v, =Ir(t)-x(t)]/(t,-t)
() v () =v(0)+at
dAr@=r0)+v(0)t+(1/2) at?
(e)a,_ =[v(t)-vI()/(t-t)
feg M3’ 3 = T 7iST® (, 713 (, 576 TS IS et @ WA s 3 T |
I& fafinr &5 g9a gus & fons 578 Ug a96 M3 §ugas An3 oF fa ot feu He 9 At a0t Imfer Qo amit I
=
(a) fam yfafenr fEe gdfimz afi=t 31
(b) I faeraHa &t Jet |
(c) fen-gl= o=t 1
(d) fam e 2 fEq e 2 gne fig € f<o sdt seset |
gt g=ret Aove gt I 3400 m S €uret €73 four 9 14 uaSt '3 fan Gue fig I g=et mow €1 10.0 Faw
&t gat St Afagtnt fE9 30° e de s @t I Stoest mom S gsat J ?

S Mf$"™H (ADDITIONAL EXERCISES)
for rfew &g ufowrs W3 ferr 82 g¢ g5 1 5t AUw &3 fenet aet Afast g€t 9 7ot feo it € 57 ufa=afs
I AaeT J |5t AUR fE9 Su-9 FETET 3 S 99799 AfErT a w3 b €7 99799 3 YgTE Agdt 9=ar 1w €39
€ miges fET Geras fel
fom Afen € uforre W3 ferr €< 92 g% |1 5t ferer feg »ew 9§ fa aet gt fameT ufore w3 ferr 3=, Go wge
It Afer 323t ¢ fan eng € uke &t fenrfierm uie-gg &t form w3 1o € v -o@ WHe-d< o i3t AT
AgEt J 15t ferer feg »eg 7 fa gt =t uhe ffa Afen J ?
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4.28

4.29

4.30

4.31

4.32

&t 3t I6 iyt 57 aet Afer Ifug ST Aae 7

(a) fan Bu T it aret 379 & Baret

(b) fam M35 U39

(c) fard® T 5% ? ferfurraa |

Jet gt fuz 5% 30° € d< 3 98Te! et 9 M3 89 193 3 3.0km T3 f3aret 7 | fere yuug € a< & fam
39 fe=nfa3 39d at 5.0km €9 AfE3 fan egdie & Sfemr AT AaeT J ? it €t 575 Wit 978 & forfaa e w3
gereySAtdu § Gufuz a9 |

aet =g Ao+ 1.5km &t @97t 3 720kmh-! & 5% 57 fuzHt fenr &g €3 four 9 w3 far gedt Aow
FEI U T BT TUT T BUET T 14T 5B U T SF erdl I < fAN &% 600ms™! €t 9% 7% Trfamir
far JiwT g=rel 7o 3 T 99 A | IS Ao © 95 § fan fa@aan Qe I mom § @3@erwdiwr g7
AT a® JiBT Bae S gfemm 7 A | (g = 10m/s?)

& Arela® A= 27kmh~! & 9% &% Arela® 98T four I | fAS It Aga 3 89 80m au femmr & Jadt iz
I YA I, BT TF BT I MI MUST 75 § 0.5ms | €t fed INs €9 575 We g $e7 J | 536t Hg I AEtas
AS9 € &< Y=aT1 T Ufone w2 Gret ferr usT a9 |

(a) o a3 fa fam yaua @ x- g9 M3 §FE Sa1 € feos d< & Mt e« € gu <9 5 fod migHe eanm Age gt :

()=tan" (%_‘gtj

13}

ox

m

(4
(b) i a3 for v fir 3 12 18 yituar s/ @y tan ( R

j?]ea-r.\ |f§€r€8§’a€rw@ it |



